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Q.1 (8 Points 1x2x] X2x2)
In a baseband system, the constellatlon points are given as:
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Q3 (5 Points) ?’L\‘? j//r"‘ ’ :‘%Z

\25%
Draw and labe| the block dtagrdm for ()l ‘DM systcm |
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.data through a 25KHz ch channel
the signal constellation, ation. write the

Q4 (12 Points 6x6) ABET Quesnon

A- It is required to trapsmit a 80kbps binary

using a base-band system. Design and draw the signa_
block diagram

expression for the transmitted signal. Draw the transmitter i\ - S

s — P
:/\:\?,.-(\-\—0() wm=1 l

am Uot ﬂ'}cf-i'ch A Ql" 1
G =2 \

L

2 AN
P
= ;:E—-— L‘r’ E’i\ =L
 Aond jon
,/:L_T’//,;’%’C;EG?L am‘:) SJ"J
= D25 | — L ¥ C4- /
| (£) & -

AN - . () GinC
., s\a 1

’ ’_( 1224 ) Y N\??

Scanned by CamScanner



- wl~w»/ NV 7 Mage == 7/
toresan = S: SO [¥ 'f /ﬁ" \Vig 7
- -t/—-> e [
¥ 4, e
7 1 y
B- It is required to transmit a 80kbps bina% d/é through a 25KHz 23 FsK

: : = ) . best signal
channel using a band-pass system at 1MHz. Design and draw the DE5

SIg a -~ —esion for the
“Tonstellation (minimum bandwidin and energy), write the CXI?LCSS]O
transmitted signal. Draw the transmitter block diagram.
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